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The figures in the Margin indieqy
for the que‘Sh'Ons eﬁlll marks

orrect answer ;

1. Choose the ¢
1x7=7

(@) Hugo de Vries Proposed th
theory pased N hig € mutation
conducted o eXperiment

(i) Pisum sativum

(ii) Drosaphﬂa mEIanogaSter

(iv) Althed rosed

(b) Which of the following o
omenons

supports D in'S concept ¢
natural

selection in ©

(i) productio? Dolly
cloning sheep by

(ii) De*.f'eloprt‘lﬁ‘rlt of organg g

cells for organ transplantroltn Stern

(iii) Developﬂ'lerlt of transge . ation

(iv) prevalence of pesticidg—?i-mals
A9 /73 i insect esistant

( Tum Over )

B



(2) (3

(c) Evolution is studied on (g Macroevolution is known as
(i) individual (i) genetic drift
(ii) species (i) random selection

(i) population (iij) adaptive r?diar_ion
; (iv) bottleneck’s effect
(iv) cells -
. 5. Write short notes on the following : 2x4=38
(d) What is the most jmportant factor for

the success of animal population? (a) Cryptic colouration in mimicry

(i) Unlimited food (b) Microevolution and megaevolution

(ii) Natality () Drawbacks of Darwin’s theory

: d) Major zoogeographical regions of the

(1)) Interspecific activity @ b

(iv) Adaptability 3. Answer/Write short notes on any three of the

(e) Wl"lich of the following Shows common following : 5x3=15

on.gm of man and chimpanzee? (a) Give an account on the fossil history of

() Dental formula man.

(ii) Binocular vision (b) Typical fauna of Oriental region and

Australian region

(c) Protective and aggressive mimicry

(d) Primary and secondary aquatic
adaptation

(e) Characteristic feature of Mesozoic era

(ifi) Similar cranial capacity

(iv) Banding patterns in chromosome
numbers 3 and 6

() Earliest fossil form in the phylogeny of
horse is

4. (@) Give an account on the nature and

(I) MeSOhi u
G formation process of fossils. Enumerate

(i
(P the methods for the determination of
(i) Eohippus age of fossils. How are fossils significant
in the study of evolution? 4+4+2=10

(iv) Merychippus
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(‘4")

Or
(b) Outline the gjfrer ot postulates of
Lamarckism_ How does it explain the
elongation of neck of giraffe and
absence of limbs i, snakes and other
burrowing anima)sp Mention the most

controversig| part of L amarck’s law of
evolution 5+3+2=10

S. (@ What wag the view of A. I. Oparin for
OTigin of lifen Describe the Urey-Miller
eXperiment, Dise importance of

uss the
coacervateg o theS:rigin of life. 2+5+3=10

Or
(b) “Withoyt isolatjy, there 1S no
Speciatigp » (_) is statement.
Expla; JUStlfy thi . d
T o 1 role of geographic an

genetic isolay 2+4+4=10

on in speciation-
6. (a) Give an account of geological periods
0

indicate the grouP of animals

Cleristia of thege periods. 10
Or

(b) Define adaptatio Show priefly how the
; n.

Organizatj, .. adapted to meet
n . a i
the requimn? b flsits life. Discuss
evolutigy, ?nt- 0 - of adaptation,
Significan 2464221
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